Give the ladybird 8 spots. Cross out one spot o Give the tiger 10 stripes. Cross out one stripe e
to find one less than 8. to find one less than 10.

How many spots are there now? How many stripes are there now?

Give the lion 14 teeth. Cross out one tooth to e Give the hedgehog 12 spikes. Cross out one °
find one less than 14. spike to find one less than 12.

How many teeth are there now? How many spikes are there now?




Give the leopard 15 spots. Cross out one spot e Give the rain cloud 16 raindrops. Cross out °
to find one less than 15. one raindrop to find one less than 16.

How many spots are there now? How many raindrops are there now?

Give the crocodile 8 teeth. Cross out one tooth a Give the tree 20 leaves. Cross out one leaf to e
to find one less than 8. find one less than 20.

How many teeth are there now? How many leaves are there now?




Give the dinosaur 14 spikes. Cross out one ° Give the jumper 6 spots. Cross out one spot @
spike to find one less than 14. to find one less than 6.

How many spikes are there now? How many spots are there now?

Give the octopus 8 tentacles. Cross out one @ Give the rabbit 9 whiskers. Cross out one @
tentacle to find one less than 8. whisker to find one less than 9.

How many tentacles are there now? How many whiskers are there now?




Answers
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7 spots

9 stripes

13 teeth

11 spikes

14 spots

15 raindrops
7 teeth

19 leaves
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13 spikes

o

. 5 spots
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. 7 tentacles

12. 8 whiskers

E * *x *
W?. plan lt Maths | Year 1 | Number and Place Value | Identify One More and One Less | Lesson 1 of 3: Finding One More
*
*

»

visit twinkl.com



